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207 HFIHEHI 10,000 0 10,000

03 A&l H] 10,000 0 10,000
ox3dAss 8 3,000
Ot && ¥ HE, s S 3,000
OstHdAHA & =8 =23 4,000

REZSME MADIE NS (SHHS S/ 5 - 5&) 279,829 393,256 A113,427
= 64,000
, = 215,829

sgEd2d 2 NESE 235 191,747 314,946 A 123,199
= 64,000
= 127,747

Egae BE A7 37,167 49,689 A12,522

101 Q14| 10,630 9,848 782

04 JIZtHIZ22HsE+ 10,630 9,848 782
OANEE=x 4,603
OZHOR 3,500
©2tAlH| 720
OHARLIUUHEER) 1,807

201 LetH| 3,361 17,705 A 14,344

01 AtER22/Hl 3,361 8,205 N4,844
OANELZLE 22| SIYR= 600
OU=EZ UMb 800
OxHZE HZEHI 361
O&HEI A& =& 1,600

202 O4Hl 12,096 7,056 5,040

01 =LA b 12,096 7,056 5,040
OELSHIANEHT =& 12,096

207 SO 10,000 14,000 A 4,000

03 A&l HI 10,000 14,000 24,000
EXHE, =%, s (108) 3,000
OAlS & =XIIF(148) 7,000

301 Yptsag 1,080 1,080 0
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10 BALAHIEA S 1,080 1,080 0
OAFLEA , EIIRIE & AOILE ZPAF O 1,080
OFM SALS MAEHA o 13,290 19,727 AB,437
101 Q1 Z4H| 6,290 9,727 A3,437
04 JIZtHIZ22HEsE+ 6,290 9,727 N3,437
OANEE= 3,700
OZHOIR 2,590
207 1P| 7,000 10,000 A3,000
03 A& A 7,000 10,000 23,000
OZX Hlg, =%, =X (108) 3,000
OAl 2 =X (85) 4,000
SAME sy o7 13,290 35,530 £22,240
101 Q14| 6,290 8,400 22,110
04 JIZtHIZ22HEsE2+ 6,290 8,400 A2,110
OANEE= 3,700
OZHOR 2,590
207 1R 7,000 10,000 A3,000
03 A& A | 7,000 10,000 23,000
O3X.Hlg, =%, =X (108) 3,000
OA & =XII7(88) 4,000
NEARIBIELH (2 D-8E=Y) 128,000 210,000 A 82,000
= 64,000
= 64,000
401 Al&HIZL=ROHYI 128,000 0 128,000
& 64,000
& 64,000
01 Al&H| 127,000 0 127,000
OHAMHIA S B S A4 Z2At 127,000
= 63,500
= 63,500
03 Al£ SR04l 1,000 0 1,000
OHA SZAHF AId3 At 203 I 1,000
= 500
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TEE sHME 22 XH A2 88,082 78,310 9,772
=2 HillE YHIls o7 22,934 48,710 ~25,776
101 el 4] 8,022 8,400 A378
04 JIZtHIZ22HSE* 8,022 8,400 A378
OANEE=x 3,700
(OEPSgelb_ 2,590
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ogzl2se £ 6,912
207 S RIHY| 8,000 12,000 4,000
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OB, HIZ, 5%, SXHH(105) 3,000
OAI% & EXIIR(105) 5,000
2 DIMSo s 28 o3 15,178 16,000 822
101 2124t 7,178 7,000 178
04 JAMIEXS B4 7,178 7,000 178
ONBEZ 3,700
oZFoL 3,478
207 eIl 8,000 9,000 A 1,000
03 AlE et 8,000 9,000 A1,000
OB, HIZ, 5%, SXHH(105) 3,000
OAl% & E=XIIR(105) 5,000
2TE 8 Y =2 SHIF o7 49,970 0 49,970
101 2124t 29,970 0 29,970
04 JAMIEXS S 29,970 0 29,970
ONBEXH 18,470
omZFoL 8,750
ORIPNE:] 600
CEE-E=1= 2,150
207 ST 20,000 0 20,000
03 Algo | 20,000 0 20,000
OHIZ, SUHH 82 ¥ 25 ME(1035) 6,000
OA2 U MBZSE(103) 10,000
OZENSE 2E(83) 4,000
BIEY I (SYHL2 /5 - 5&) 3,758,958 2,812,188 946,770
= 1,248,000
= 2,050,000
= 18,000
= 442,958
NPT 2,760,008 1,728,908 1,031,100
= 615,000
z 2,045,000
= 100,008
ASEXNCAY BH3 XV (2D) 1,645,000 863,000 782,000
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403 XXM SA=01H 1,645,000 863,000 782,000
= 1,645,000
01 AXESMA2E = 1,645,000 863,000 782,000
OXNGsEXNTAY SH3 X3 (2AH) 1,645,000
= 1,645,000
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= 86,000
& 12,000
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= 7,500
& 7,500
04 JI2tHIZ2E2NEE S 15,000 15,000 0
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201 B3| 4,000 2,000 2,000
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OsEXEANY 2 4,000
= 2,000
= 2,000
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01 SO 5,000 9,000 24,000
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= 74,000
01 HXSHBAEEXS 74,000 50,000 24,000
OLEXN=ES X2 (160HL) 74,000
= 74,000
SJ|% SEAY XV (2D) 324,000 299,900 24,100
= 324,000
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OsJ1H 8801272 nsXA(1,6008) 24,000
= 24,000
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= 300,000
01 AXESMIA2E = 300,000 272,900 27,100
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= 300,000
Hetg s SEIIEXE(21) 205,000 20,000 185,000
= 205,000
308 XNXIHHSOIE 25,000 20,000 5,000
= 25,000
01 MXEHMIANELS 25,000 20,000 5,000
OdDlE AESAE ARESKIR (51HH) 25,000
= 25,000
403 XX SHMSA201H 180,000 0 180,000
= 180,000
01 MXISMAZ2E = 180,000 0 180,000
oxXgHRasX(2MHL) 180,000
= 180,000
ANEsEELs Ik (=) 400,000 380,000 20,000
= 400,000
403 XXM SA=01H 400,000 380,000 20,000
= 400,000
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04 =M=t Hl 8,000 9,000 A 1,000
Ot == oA 8,000
403 KX EMSK=01H 60,000 60,000 0
01 RXSMA2E = 60,000 60,000 0
oOR=JI& JIsEs g3 NJA(3012) 60,000
=38 d=JlEs WS 527,150 476,024 51,126
= 504,400
= 22,750
sgo M2 s (x71) 420,000 327,550 92,450
= 410,000
= 10,000
201 LetEdl 17,800 22,680 24,880
= 8,900
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[ 8.900

01 Ar22elH 17,800 22,380 4,580
OgsEE dRsel 1] 29 17,800
2 8,900
3 8.900

301 Ytz 2,200 7,320 A5,120
2 1,100
=3 1,100

10 BAAHIZA3 2,200 7.320 A5,120
OYsHE A=l Ng B4 2,200
2 1,100
[ 1,100

308 XHXIEHHISOIE 400,000 297,550 102,450
2 400,000

01 MXSHBLEES 400,000 297,550 102,450
Osgol HRIEnT 400,000
2 400,000

NE22e #8258 ga(20) 107,150 116,620 N9,470
2 94,400
& 12,750

202 OdHl 25,500 14,080 11,420
2 12,750
3 12,750

01 =LHOAHI 7.500 8.000 A500
ONETZRY dMesday 25 7.500
2 3,750
= 3,750

04 2 3t 0IH 18,000 6.080 11,920
OXNETIRY s HAAS 18,000
2 9,000
S 9,000

308 XHXIEHHISOIE 81,650 102,540 £20,890
2 81,650

01 MXSHILEES 81,650 102,540 £20,890
OXNEZZRY sAsY X 81,650
2 81,650

SQOICHY &3 X2 339,800 358,520 18,720
2 48,600
£ 18,000
=3 273,200

S0l StECHH 243 XA (2D) 82,800 78,400 4,400
2 48,600
[ 34,200

201 Yure gyl 16,600 9.886 6.714
2 8.300
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< 8,300
01 AtR2elt| 11,480 7,586 3,804
O4-HEl® U NEDA B 29 10,280
= 5,140
= 5, 140
SEXNCK 24 1S 29 1,200
= 600
= 600
03 A2 Y| 5,120 2,300 2,820
O4HEl® BARY =X 5,120
= 2,560
= 2,560
202 01t 1,800 2,400 A600
= 900
= 900
01 =2Uioi8l 1,800 2,400 600
O4-HSIR L NCDA BHDE S 1,800
=2 900
= 900
206 2| 5,400 3,400 2,000
= 2,700
= 2,700
01 HEb| 5,400 3,400 2,000
O4H3IR L NCDA HHDS 5,400
= 2,700
= 2,700
301 YBrEAS 2,600 8,314 4,286
=2 6,300
= 6,300
10 BAAHIE A2 12,600 8,314 4,286
O4HEIR L NCTTA DHDS LA 12,200
= 6,100
= 6,100
SENSK YEDE 24 400
= 200
= 200
307 2120/ H 32,000 40,000 8,000
= 16,000
= 6,000
VRN EES 32,000 40,000 8,000
OF 4H=E 2% 32,000
=2 16,000
= 16,000
308 X+XIEHHIS O & 14,400 14,400 0
= 14,400
01 MXSHHZHSEZ 14,400 14,400 0
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OsENEX dHUS 14,400
= 14,400
4Ha| |4 183,000 224,020 241,020
2 3,000
= 180,000
201 LBt 3| 1,000 1,500 A 500
01 AtS 22/l 1,000 1,500 A 500
O4-H=2 B UHa =& 1,000
202 O4Hl 5,000 7,000 A2,000
01 =Yl 5,000 7,000 22,000
OstESHM WFHA F&A 5,000
206 M=l 500 500 0
01 M=H| 500 500 0
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301 et as 11,500 9,520 1,980
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307 QI2t0IA 3,000 28,500 225,500
&2 3,000
02 ItAAE X 3,000 28,500 A 25,500
O4-HAE S &4 3,000
= 3,000
308 XX HHSOIA 12,000 27,000 215,000
01 XML EXS 12,000 27,000 A 15,000
O4-H WMES M 12,000
402 It HE01H 150,000 150,000 0
01 It EEX 150,000 150,000 0
O4-HERAIIZ XA 150,000
s=XNEAte 54 64,000 44,500 19,500
&2 15,000
= 49,000
307 GI2+0I A 30,000 14,500 15,500
&2 15,000
= 15,000
02 ItAASE X 30,000 14,500 15,500
OHX 192 ZEEsEXNE=XUE JHE 15,000
O(M)sSEXNZXNLIEHES SLXE 15,000
= 15,000
308 XX HHSOIH 34,000 30,000 4,000
01 MHXSHIAEEXZ 34,000 30,000 4,000
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OO 22is AIXIH 10,000
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=l 5,000
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oOE2EY 7Y 10,000
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= 9,500
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OMEBRN 2HAE FA S 3,000
=2 1,500
= 1,500
202 01| 4,000 4,000 0
= 2,000
= 2,000
01 =L otHl 4,000 4,000 0
OZA=Y Al =& 4,000
=2 2,000
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= 1,916,022
403 RXISHSKHZ0IH 1,916,022 1,923,117 AT7,005
= 1,916,022
01 MXESHIESE 1,916,022 1,923,117 AT7,005
OAIEBSAY (JTA) 1,916,022
= 1,916,022
Zoul BY Iz II| SAH(RA) 82,000 155,200 A73,200
201 Lere gl 10,000 14,400 A 4,400
01 AFR22/H| 8,000 12,400 ~4,400
ONEEM MM AMAMY S DEDHME 4,000
OHASY IESNEXE M= 4,000
02 2zl 2,000 2,000 0
OSX2 Hills YUY Ys QBR 2,000
202 01t 3,000 4,000 A 1,000
01 2UH0iI 3,000 4,000 A 1,000
OYXE AAY S JI2XE 1,000
0FHY SPMH X SN 2,000
403 RXISHSKH=0IH 69,000 136,800 67,800
01 XHXISHHI X2 2 =X 69,000 136,800 67,800
ORT2l o= B JI=AlE 69,000
ASHS AN JIEES 523,840 681,640 A 157,800
2 75,000
= 350,000
= 98,840
Ol SELAZ MADIZAIE(2D) 75,000 100,000 125,000
= 75,000
403 RXISHSKH=0IH 75,000 100,000 A25,000
= 75,000
01 XXISHAZ2E 75,000 100,000 A25,000
OIFEAFS S HACCP =S Al 75,000
= 75,000
ol S3HAY 245t 350,000 380,000 £30,000
= 350,000
403 THXISHHSXHRO0IH 350,000 380,000 30,000
= 350,000
01 XIXISHAZ X 350,000 380,000 30,000
OXNASH3AY 350,000
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01 AIR222|H] 2,000 5,000 A3,000
OMJI=EZ2 il s H& 2,000
202 (4l 4,840 7,640 A 2,800
01 2| 4,840 7,640 A2,800
OMES AZAIY SXII=XH 2,000
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403 XX HMEX20IH 92,000 189,000 A97,000
01 AXESHMA2EE 92,000 189,000 97,000
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= 4,582
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01 AtS22telyl 9,164 10,680 A 1,516
OddlE &M HEEdEX £ EE 2= 9,164
= 4,582
< 4,582
202 04| 12,000 12,000 0
= 6,000
& 6,000
01 Z2WdHYI 12,000 12,000 0
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= 3,000
= 3,000
OEXZEA Xl Jl=Xd 6,000
= 3,000
& 3,000
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01 RXSHMIA2E = 2,618,000 2,387,000 231,000
OXS=g SHSFAS (11HL) 2,618,000
= 2,618,000
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201 Let2d| 11,900 5,000 6,900
= 5,950
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= 2,800
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= 2,400
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202 O4Hl 1,200 0 1,200
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01 =Wl 1,200 0 1,200
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301 et as 5,900 3,000 2,900
= 2,950
= 2,950
10 BAAHIRAS 5,900 3,000 2,900
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308 XX HHSO0IA 79,500 11,000 68,500
2 79,500
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01 AFR22/HI 2,000 6,000 4,000
O4IDIZ AIZAIY BXDIEXE DL 2,000
202 01| 6,000 3,616 2,384
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01 XHXISHH A2 X 48,000 141,000 93,000
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201 Lere gl 24,000 32,760 18,760
01 At2z2l| 24,000 32,760 18,760
OXEE IS BHS LS S 10,000
0B=Y =olcinRe HEXY S 14,000
202 01t 7,000 9,000 A2,000
01 2UH0iH| 7,000 9,000 £2,000
0Z=2Y S0 AR FSA 2,000
OSEEE JIEN Y3 WS =X 5,000
301 LetEaa 11,000 15,040 A4,040
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24 3,000
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oH 233 B2+ AN 56,925
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01 IXISHAR =X 165,000 0 165,000
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= 1,515,000
= 5,000
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=2 585,000
= 1,050,000
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Cel =EHAGET (==L
_ _ pSNE e
A -3 -H2A(SH) - HEAMY - BES Of] AF R @Egj Hlws2

AJISESAIE(2D) 440,000 370,000 70,000
= 440,000

308 XX EHHI SO0 190,000 100,000 90,000
=2 190,000

01 UXSHBALSE 190,000 100,000 90,000
OSAE IFBRIISAIE(2AY) 75,000
= 75,000
OsEMEI| S A (4AH) 115,000
= 115,000

403 THXIGHHS K20 H 250,000 270,000 A20,000
= 250,000

01 UXISANZL S 250,000 270,000 A20,000
oOsaE NBIIEAY 250,000
= 250,000

SEAYFA0STL(2]) 750,000 675,000 75,000
2 750,000

308 XSSO0 750,000 675,000 75,000
2 750,000

SR EREE S 750,000 675,000 75,000
SEALEA0S(30H2) 750,000
2 750,000

SRATHFHOEL (2 D) 150,000 190,000 A 40,000
= 145,000
= 5,000

201 Loty 6,000 6,000 0
= 3,000
= 3,000

01 AL 2| 6,000 6,000 0
O AFAAT 2 6,000
= 3,000
= 3,000

202 OFH| 3,000 3,000 0
=2 1,500
= 1,500

01 2o 3,000 3,000 0
0= AFAIYAC =X 3,000
= 1,500
= 1,500

301 LBEAD 1,000 1,000 0
= 500
= 500

10 SAIAMHI S A2 1,000 1,000 0
O AFAIYC X 1,000
= 500




FA sg@II=2

E: SENANNSE(SYHY /52 - 55)

ool sEEABEX (ool @
SN I SRI(S) - NRAY - B 0fl b Soe B RS2

= 500

308 MXIHHMSOIA 140,000 180,000 240,000
= 140,000

01 IXNHMBLNEEXS 140,000 180,000 240,000
O=&Y HEIDHAIHE (5IHA) 140,000
= 140,000

SEHGSZINLEHOIEYI XIS (212) 300,000 100,000 200,000
= 300,000

308 NXIHHSOIH 300,000 100,000 200,000
& 300,000

01 MHXSHBIAEXZ 300,000 100,000 200,000
O=&Y SZMA HOIEHI XA (1290 2) 300,000
= 300,000

s=ME 243 X2 (KA 64,288 52,388 11,900

202 O4Hl 7,588 7,588 0

01 =W 7,588 7,588 0
s2uE Bas 20 7,588

308 XX HHSOIH 56,700 44,800 11,900

01 MXSHBAEEXZ 56,700 44,800 11,900
O==&L0l g3 T2 29 6,000
Osgol Azl 29 38,700
ODNY=Ih HEME FAHHA 12,000

SENIEE LSt 542,500 795,900 A 253,400
= 465,000
& 77,500

FEs8lls2=(=2 465,000 640,000 A 175,000
= 465,000

308 AXEHHSOIH 365,000 490,000 A 125,000
= 365,000

01 XM EXS 365,000 490,000 A 125,000
O=ZEMEE8s 43H(2MY) 250,000
= 250,000
O=E0HAES JI=XA(3AY) 115,000
= 115,000

403 KX M SK=01H 100,000 150,000 A50,000
= 100,000

01 XM= E xR 100,000 150,000 A50,000
OsE0H48ASs JI=X&A 100,000
= 100,000

LS5 HEES 77,500 155,900 AT78,400

202 O4Hl 3,500 3,500 0

01 =AY 3,500 3,500 0




FH: =8lI=d
HH: sE=XJAINKEE(
ool SENABRE A4S chel MR
SA - R SI(3H) - HIRA sk oy e 2
OLSE M 3,500
403 XXM S K2 74,000 152,400 AT78,400
01 RXESHMA2E = 74,000 152,400 AT8,400
oZ3 &S o Sd(2MH4) 20,000
Os&dEH bR (40 4) 54,000
SEESHMNY 146,100 167,700 A21,600
= 59,500
= 5,000
& 81,600
sSAEEAAAMH (S 60,000 50,000 10,000
= 59,500
= 500
201 Let2d| 1,000 0 1,000
= 500
= 500
01 AtE22(Hl 1,000 0 1,000
OsgsstH 1,000
= 500
L= 500
308 XXISHHSOIE 59,000 50,000 9,000
= 59,000
01 MXEMIANELS 59,000 50,000 9,000
OoOsgstst 9,000
= 9,000
OME=HD 50,000
= 50,000
MEINHS SH 49,100 92,700 A43,600
307 QI2t0IA 22,000 12,600 9,400
02 BltAAEX 22,000 12,600 9,400
OMEINLS 22,000
308 AtXIHXSO 27,100 54,100 A27,000
01 TXIEHME & 27,100 54,100 A27,000
OMEINL S 27,100
AE3 Jlzus & 37,000 25,000 12,000
2 5,000
& 32,000
201 LBt 3| 22,000 21,000 1,000
= 5,000
L= 17,000
01 AtS 22l 19,000 14,000 5,000
SENE HAXNECA WF 14,000
OMEI|I=1HM ¥ s =2 5,000

HI

5,000




2N S|
By sE2
ol

SRR IS (SRHL SN /5 - 5E)
el sSEUESHEIY (etel: =3
SNBSS NRAY - B2 0 & 24 e HlE2

03 A2l 3,000 7,000 A4,000

OsENE HAYNCXH WF 3,000
301 LetEas 3,000 4,000 A 1,000
10 SAHAHIEA S 3,000 4,000 A 1,000

OsENE YN X 0= 3,000
308 XX HHSO0IA 12,000 0 12,000
01 MXEHINELS 12,000 0 12,000

OsZE UIE HSME Jlsus 12,000
HY2HZH (=sLII==)(IIEH/IIE 6,890,132 6,893,701 A3,569

=2 9,418

= 6,880,714
QI 2| 6,610,865 6,718,806 A107,941

2 9,418

= 6,601,447
SS& 224d XA 6,065,483 6,214,911 N 149,428
101 el 24| 5,867,363 5,881,011 A 13,648
01 2= 5,867,363 5,881,011 A 13,648

OJl=s 3,738,752

Of=3=) 3,456,239

- S 66,083

= 5,506,840 x 12 ~128 66,083

- gHA 2,828,337

6= 2,395,900 x2H «12& 57,502

= 1,862, 7003 x2H 123 44,705

- 8= 1,488,800& x 12+ 123 17,866

- 3,455,700 x 11~ 123 456,153

- A 2,205,000 x59H « 12 1,561,140

- Nz 3,186,700 x6H 128 229,443

- KNI AL 2,136,700 x18H «12& 461,528

CE 561,819

= 2,164,500 x5H « 128 129,870

= 1,888,100 x 11«12 249,230

= 1,380,900& »4H 123 66,284

10= 1,078, 100& »9H « 123 116,435

O&d= 282,513

-H32%E 3,390, 156,000& *1/12 282,513

O=¢ 836,795

O}&E=4 99,840

—Hi = Xt 40,0003 «108F « 123 51,840

-2t 20,000 »200F «12& 48,000

O A2 40,403




SN
X XH .
S Tt

&

S BT
HHSHAY (SYIIE)(IIEHIIE)
ozt 2|

SN CR(EH) - NRAY - BES

20
B
2

-Ss 51,9903 x25H »43] 5,199
-1Sstu 419,000& x21& #4323 35,204
OdIZ=Eiit= 135,360
-25E 0] &t 130,000& 32 123 49,920
—204 0] &~25E 018 110,000 «24H 128 31,680
-15= 0l &~20= 0 & 80,000 »45&H » 122 43,200
-108 01 &t~15= 0] 2t 60,0003 x8H x12& 5,760
- 580l &~10= 018t 50,000 x8H *12& 4,800
OoRg2R=¢ 49,800
43 50,0002 *83H « 122 49,800
one=¢ 168,798,000 x4 . 8%+ 12& 97,228
ORHIRIA=E 50,000& »4H 12 2,400
OS24 95,760
Jl=sdsesdg 28,560
PN, 60,000 x6H 122 4,320
- KIS AL 50,0002 x18H 123 10,800
- JIsTS 30,000 «3F «12& 1,080
- Jls8=0l6t 20,0003 »20E 122 4,800
- tets 30,0003 x21H «12& 7,560
-gRYeg 80,000 70 122 67,200
O&clgR=+ 43,993,000& »6H «9% 23,757
Oz axrd 70,0002 x10H 122 8,400
OS=Xz22+E 10,920
-= Xl 40,0002 x16H * 122 7,680
=P\ 30,000 x9H 122 3,240
OAN2t 2R+
7,457 3 «122H +x25A| 2+« 128 272,927
OF M S AHI 130,000& 90 x 128 140,400
(OIME=3apNu] 141,240
Ols~3=sad 200,000& »3H 122 7,200
Od4s~bsad 140,000& x13Z x12& 21,840
Ots~7=a 4 130,000& 59 x 128 92,040
O8=~10=2de 120,000 14H x 128 20,160
OYEF Ot 3,390, 156,000 *1/12%120% 339,016
OJHA X &bl 3,390, 156,000 *16.7% 566,157
O It &H| 105,003
OSEH 66,083,000 *1/12%70%*1/30 11 1,414
Os=H 3,390, 156,000 *1/12%1/30* 11 103,589
204 A= HH| 198, 120 285,060 286,940
02 HNE2X4 198,120 187,860 10,260
O2= 650,000& 1~ 122 7,800
O4= 400,000 x9&H » 128 43,200




e R -pIE]
2 WM AR (5YIIS)(JIEHIIE)
el olee g (e @e
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
053 25000024 +7% 122 21,000
063 155, 00091 54 * 122 100,440
o72 140, 00021 +58 1224 8,400
08-92 105,0002 * 112+ 122 3,860
0102 95,0002 *3% + 122 3,420
A2HYA DAY 112,556 103,885 8,671
101 2124l 112,556 103,885 8,671
03 RIHAZZRE S 112,556 103,885 8,671
oAYH el 19,705
oJlez 39,5002 * 12 %2492 9,836
O&012 39,5009 * 12 %212 x40 B 3,318
ORzFL+Y 39,5009 12 x522 2,054
OANLe 224
7,406%1«1Z*10AI 2t* 1074 & 741
OeiRI 4+ 39,5009 %12 +162 632
OY=E It 300,000 +12§ 23| 600
O3] 10,0002 #1120 2 1,200
OYZLLIUUSHEE) 15,208,002 +8. 7% 1,324
OfEL-L 92,851
oJleaz 37,0002 %53 2492 46,065
0402 37,0002 +52 212 #43] 15,540
ORZEY+Y 37,0008 x5 #5221 9,620
OANLe 224
6,93821 x5 * 10AI 2t+ 1074 & 3,469
ORI 4+Y 37,0002 %52+ 162 2,960
OY=EF It 300,000 #5824 x23| 3,000
O3] 10,0002 52« 120 2 6,000
SEF-L== 71,225,002 +8. 7% 6,197
20 AlE DA 203,977 204,483 19,489
101 Q124 203,977 204,483 19,489
03 RIIHAZE NS 223,977 204,488 19,489
OAYH Helg 19,705
oJlga 39,5009 * 124 %2492 9,836
0402 39,5002 #1221 *43] 3,318
ORZaY+Y 39,5002 %12 +522 2,054
O 224
7, 4062« 12 % 10AI 2t 1074 2 741
ONRSEIN+Y 39,5001 %12 +162 632
OY=EF It 300,000 #1223 600
o3| 10,0009 %1120 2 1,200
OYBLYI(UUEE2)  15,207,50021+8. 7% 1,324
ocEL- 2 204,272




SN Se|&d
M HHRIAZH (sLII=2)(IIEHIIE
chel: Q2 H| (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OJl=2s 37,000 *11H 249! 101,343
O&t= 37,0003 *11H *214 43| 34,188
O == 37,0003 11«52 21,164
OANZI2Z2H
6,938 x11E «10Al 2+ <100 & 7,632
OFPNESF=E I L= 37,0003 *11H«16 6,512
Og &SIty 300, 000& *11G »23| 6,600
O=24ld| 100,000 «11E 1204 = 13,200
OgARLIUUHEER)
156,695,000 *8.7% 13,633
=Y AMEHIZAY 190,013 178,202 11,811
101 elH| 190,013 178,202 11,811
03 RIIHAZZ XN E = 190,013 178,202 11,811
OAZE2tel & 78,814
OJl=s 39,5003 x4 H 249 39,342
O&0= 39,500 x4 H +21L 43| 13,272
Orasgdsd 39,5003 x4 H «52 8,216
OANz2Z22Y
7,4063 *4H x10A 2tx 1000 2 2,963
OfXsesit=Y 39,5003 x4 H «16L 2,528
OZE St 300, 000& 4 +23] 2,400
OF=gal:]l 100,000 *4G 1204 & 4,800
OHERLZ2(4UEEZ) 60,830,000&*8.7% 5,293
ottz=L2R& 111,199
OJl=2s 37,0003 6% 249 55,278
O&t= 37,0003 x6 & x212 %43 18,648
O == 37,0003 x6 % x52 11,544
OAZI2Z2H
6,938& *6H «10Al 2+« 100 & 4,163
Ogsesit=Y 37,0003 x6H x15& 3,330
Og &SIty 300, 000& 6 *x23] 3,600
OF=gal:] 100,000 «6H « 1200 & 7,200
OHABRYZ2(4UHEEZ) 85,470,0002%8.7% 7,436
SN2 YolE oE A (2D) 18,836 7,320 1,516
= 9,418
& 9,418
101 Q14| 18,836 17,320 1,516
= 9,418
& 9,418
03 RIHAZZXNE = 18,836 17,320 1,516
OHFELR 18,836
OJl2s 9,213
= 4,606
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104,372

100,790

48,840
22,000

3,440
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174,895

22,491

15,771
12,771
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A E=PIEL:!
M HZ2IZH(sII=H)(IIEHIIE
el Jl=3 4l (etel: =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
o#E 650,000 128 7,800
oOR% 600,000& »2H »12& 14,400
oOnE 350,000& 7 =122 29,400
405 AHoHESHI 350 0 350
01 HARESF=H 350 0 350
oWz (1) 350
EN2Z J2Zu(H28dg) 25,654 24,602 1,052
201 LEH2 | 16,534 14,942 1,592
01 At 2t2lbl 16,534 14,942 1,592
ORAMEZE AR 22l 16,534
202 O 9,120 8,160 960
01 WYl 9,120 8,160 960
ORAN2E =40 9,120
MY J2ZH (207 23,826 21,600 2,226
201 LetEEHl 14,146 13,350 796
01 AtR2teld] 14,146 13,350 796
FHA2Y AtR2eltl 14,146
202 O4dl 7,680 7,200 480
01 WAL 7,680 7,200 480
OFAM2E =AY 7,680
405 XtobE SHI 2,000 1,050 950
01 MR ESF=H 2,000 1,050 950
O©2XH7H) 2,000
SN2 J=2ZH(83=sH 70 16,722 12,894 3,828
201 LetE2El 10,962 8,574 2,388
01 AtR2teld] 10,962 8,574 2,388
FHA2Y AIR2eltl 10,962
202 O4dl 5,760 4,320 1,440
01 WY 5,760 4,320 1,440
ORAN=2ZE =UNHI 5,760
SN2 J2ZH(XAJ&D) 17,072 18,722 A 1,650
201 LEH2 | 10,962 10,962 0
01 AtS2t2iHl 10,962 10,962 0
O M2 AMR2teld] 10,962
202 Oddl 5,760 5,760 0
01 WY 5,760 5,760 0
ORAM2Z ZUHH 5,760
405 XtobE SHI 350 2,000 A 1,650




dH(s201=&)(JIEH/IIE)

SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0fl &b

01 T =S H SHI 350 2,000 A 1,650
oOH&EI() 350

MY JI2ZH(0lsE=21) 14,170 15,144 A974

201 B3| 9,370 8,574 796

01 AtR 22l 9,370 8,574 796
SN2 Aewel 9,370

202 O4Hl 4,800 4,320 480

01 WY 4,800 4,320 480
ORAN=2ZE =UNHI 4,800

SA2e JI=L (MBRD) 10,342 11,242 A900

201 LEH2HH| 6,982 6,982 0

01 AtE22/Hl 6,982 6,982 0
CERERISIEY! 6,982

202 O4Hl 3,360 3,360 0

01 WY 3,360 3,360 0
FHA2E 2UHAYI 3,360

gHY 293 48,200 48,200 0

201 Lt 48,200 48,200 0

01 AtS 22l 48,200 48,200 0
CEEEIRSE 48,200




